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1
Decision/action requested

This contribution is proposed to analyse the format of A-TID issues in AKMA. SA3 is kindly requested to endorse the proposals in this contribution for solving the stated issues.
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3
Rationale

In TS33.535 [1], the A-KID is defined as NAI format, i.e. username@realm. The username part includes the Routing Identifier and the A-TID (AKMA Temporary UE Identifier), and the realm part shall include Home Network Identifier. The RID and Home Network Identifier has already been defined in TS23.003, but the A-TID format is not defined. Currently there are two solutions:

Solution 1: In S3-200770 [2], A-TID is defined as A-TID = KDF (KAUSF, “AKMA Temp UE ID”).
Solution 2: In S3-200704 [3], A-TID is defined as A-TID = <RAND> or <Session ID>@HNI.RI.example.com，RAND as the user part which is received as part of authentication. If other than AKA method is performed, such as TLS, Session ID shall be used as the user part of AKMA key identifier.
For Solution 1, it applies to AKA authentication and non-AKA authentication, but this solution will consume more computing resources of UE and AUSF.

For Solution 2, if AKA method is performed, using RAND as A-TID will consume less computing resources of UE and AUSF than Solution 1.
In addition, the Key hierarchy generation in 5GS in TS33.501 [4] below shows that the KAUSF is generated from CK and IK.
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Further, as described in TS33.102 [5], CK and IK are generated with RAND which generated by HSS.
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From the above analysis, we can get that, in the AKA process, KAUSF is generated originally from RAND. So for Solution 1, even produced by KAUSF, the A-TID is also generated originally from RAND. For this reason, in the AKA method, RAND can be used directly as A-TID, without the need to generate it by KAUSF, thereby saving the computing resources of UE and network.
Proposal: In the AKA method, A-TID = <RAND>. In the non-AKA method, A-TID= KDF (KAUSF, “AKMA Temp UE ID”).
4
Detailed proposal

Proposal: In the AKA method, A-TID = <RAND>. In the non-AKA method, A-TID= KDF (KAUSF, “AKMA Temp UE ID”).
_1234567890.doc
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